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Yug Ltd. has total production capueity of 15000 units. The comipuny has determined
80 %6 capacity as normal capacity. In this regard information related to cost is as below : 14

Particulars : ' L¢
St:lling.pn'cc per unit 700

Varinble Expenses per unit :

Direct materials 100
Direct lubour 80
Production overheads 3 20
Administrative overheads _ 40
Sclling-distribution overheads 30

Total Fixed Expenscs ;

Fixed production overheads 28.80,000

Fixed administeative expenses 7.20,000

Fixed selling expenses 3,60,000

Actual result of two years is as follows:
Particulars Flrst year | Second year
Direct labour of actual production (3)| 1080000 1020000
Closing stock (units) 1500 1250

Due to market competition company has complied to reduce its selling price by 10%

© per unit. Except this, there are no other varinnees between standard and actual result.

Prepare statement under Marginal cost and Absorption cost method and determine
profit for both years. In nddition 1o this prepare reconcilintion statement of bath the profit.
OR

P.T.O.
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Arya Ltd. manufactures and sells 7500 Electronic Calculators at 50% production
capacily at present. The information for the year ending on 31-03-2018 are as follows:

(1)
(2)
(3)

)]
(2)
(3)
(4)
(5)

(6)
(7)

2. Bina Ltd. produces and sales three products as below.

Particular L4

Selling price per unit 520
Total Fixed costs 12,00,000
Current loss at 50% production capacity (2,25,000)

Calculate : .

Current P.V, Ratio

Curr'ent Break-even-point (in units & )

The amount of sales required to ean 5% profit on sales,

The amount of sales required to maintain 25% Margin of salety.,

The amount of sales required to maintain 20% Margin of safety, when fixed cost
is increased by 10%

Profit at 75% production capacity-when fixed cost is increased by 2 100000

How much sales is required to convert current loss in the profit, whe
is increased by 10% and variable cost is increased by 5% of sales ?

n fixed cost

It provides the following

information : 14
Particulars X Y YA

(1)~ Maximum estimated sales (units) 7500 10000 15000

(2)  Selling price per unit (2) e 150 | . 125 100

(3)  Profit-Volume-Ratio (%) 20% | 30% | 259

(4)  Direct wages ( percentage of varinble cost) 50% 60% 40%

The total fixed expenses are estimated 2 5,00,000. The co

all three products, Rate of wages per hour is 2 7.5

Calculate the best production mix in cach of the f;
find out profit :

(i)
(ii)

(iil)

ML-103

Mpany uses same workers for

following three independent cases and

When maximum available labour time is 150000 hours,
Under o trade agreement the firm,

cannot produce more thap 20000 units
three products taken together.

of the

Total sales volume of the three products cannot exceed ¢ 29,00,000,
. i DR

10



(A) Dhanalaxmi Ltd. has two bottling plants. One located at Naroda and other ot
Sanand. Each plant produces three cold drinks - Rose lassi, Rajbhog lassi and
Mango lassi. The daily maximum production of cach product in bottles are as

below : . 10
Type of Product Place of Plant
Naroda | Sanand
Rose lassi 30,000 | 30,000
Rajbhog lassi 60,000 | 20,000
Mango lassi 40,000 |1,00,000
Daily market demand during the month of July will be as below : *
Rose lassi * 600000 bottles
Rajbhog lassi : 1200000 bottles
Manén lassi + 1400000 bottles

Daily operating cost of both the plants Naroda and Sanand are ¥ 12,000 and
T 8,000 respectively. For how many days each plant be run in July so as to mcet
the market demand and minimize the production cost? Solve graphically.

(B) Give the definition of Linear programming and state its any four limitations, 4

3. Give the answer of any two of the followings : 14
(1) Ayushi Ltd. produces product X at 80% production capacity at present. The
information of its profitability is as follows : '

Particulars X T
Sales (3 65 per unit) - 13,00,000
Cosls: '
Direct materials 4,00,000 -
Direct labour 2,50,000 -
Variable overheads - 1.10,000 -
Fixed overheads | 2,40,000 | 10,00,000
Profit — : 3,00,000

The company think to use the balance production capacity for the manufacture of
component “Y", The component “Y" is used by the company in the manufacture

of some other product in another department, .
ML-103 i ' P.T.O.
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The details of per unit cost of component “Y™ are as under
Direct materials : ¥ 15 '

Direct labour : ¥ 25

The labour rate per hour for the both product “X" and component “Y™ is equal,
and variable overheads of both of them is depend up on the direct labour.

The company has received an export order from abrond for purchase of 5000 uniis
of Product “X" at ¥ 45 each. This offer can be accepted by diverting the
production capacity of component “Y™. In this case the company has to buy
component *Y" from outside at a price of ¥ 60 each.

Do the necessary calculahun and suggest the best alternative.

Savita Ltd. faces recessionary difficulties and as a result its directors are thmkmb
whether or not the factory should be closed down till the recession has passed.
The flexible budget is prepared giving the following details :

Particular Total Cost T
At 30% At 50%
Capacity Capacity
1. * Direct Material ) 24,000 40,000
2.  Direct labour. 15,000 25,000
1 3. Total indirect Expenses (Fixed & Variable) 33,000 39,000
Total — .. 72,000 1,04,000

i) Cost of closing down the business is expected ¥ 5,000 and

%of the total fixed expense will be continued even if business remain closed. The

following additional information has been given:
(i)  Present sales at 40% capacity are estimated at T 60,000 per annum.

annual
maintenance expenses of Plant and machinery 'is expected to amount

T 3250.

(iii) Costs of reopening after being closed down are estimated to be ¥ 2,000 and

costs of overhauling of machines and training of personnel are estimated
¥ 1,000,

(iv) Market research investigation revenl that, if the business is to be continue

the sales expected to reach ot ¥ 1,55000 at 650 capacity afler
approximately 12-month time.

You are required to advise the director whether to close down for 12 months or
continue the operations indefinitely.

12

e
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(3)

N

Shri Rama Ltd. works at 60% production capacity. The sales manager has
reported two available altematives for increase the sales :

Option-1 : An overseas contract for ¥ 500000 per annum can be accepted at 7.5%
lower the normal domestic price. This order has to be accepted in full
or rejected completely,

Option-2 : Local sales can be increase up to 50% if ¥ 95000 is additionally spent
on local advertisement -

The details of the profit and loss account for the previous year are as below : ©
Direct materials , — ¥ 3,00,000
Direct labour — T4,50,000
Production overheads : (Variable) — 3 1,08,000
| (Fixed) - T 1,80,000
Administrative overheads : ~ (Fixed) = ¥ 1,36,000
Selling and Distribution Overheads : (Variable) — ¥ 1,86,000
Sales Price ‘ - ¥ 15,00,000

Moreover, consultant and clearance charges for export order will be amounted 5%
of net export price.

Prepare profitability statement for both the above options and suggest which
option is to be accepted.

OR

Explain in detail any Two of the following:

(h
(2)
(3)

. (A)

(B)

ML-103

“Relevant cost™
“Shut down decision™

“Equipment Replacement™

Explain “Just In Time" approach and .discuss the obstacles to successful
implementation of “JIT",

-
OR
Expluin difference between “Traditional Approach™ and “Just-In Time Approach™,
Answer any one of the following questions : 7
(1) Explain in detail the concept of “Product Life Cycle Costing™.
(2)  What is Target costing? Discuss its characteristics.
13 P.T.O.



5. Seleet the correct answer from given alternatives of each question. 14

(n

(3

(4)

(3)

(6)

ML-103

“Just in Time" (JIT) is controlled

(A) Waste of over production (B) Wasle of waiting

(C) Waste of inventory (D) All of these

Manufacturing Resource Planning-1 (MRP-1) dcgls with:
(A) Master production schedule

(B) Present level of inventory

(C) Requirement of parts or sub assembly

(D) Allofthese
Target costing is based on:
(A) Actual cost of product (B) Historical cost of Product

(C) Future cost of product (D) Nonc of these

Linear programming deals for

(A) Optimal decision making (B) Maximization

(C) Minimization (D) All of these

For 6000 units, total costs of normal production are ¥ 90,000. If, fixed costs of
production are ¥ 15,000 and actual sales are 5000 units, what will be value of
closing stock as per marginal costing ?

(A) T15,000 (B) T 17,500
(C) T12,500 (D) None of these

In which stage of product life eyele the manufacturer efforts to maintain sales by
advertisement and salesman ?

(A) Inintroduction stnge (B) In growth stoge

(C) In maturity slage (D) All of these

14



(7) If, B.E.P is ¥ 2,00,000, Fixed cost is ¥ 50,000 and Net loss is ¥ 20.000, what
would be the sales ? _

(A) T 2.80,000 (B) -%2,50,000
(C) ? 1\20‘000 (D) NOI"IC Df these

(8) If, margin of safety is 25%, P.V. Ratio is 30%, and profit is Z 60,000 what would

be the Fixed costs ?
(A) < 8,00,000 (B) < 2,00,000
(C) X 1,80,000 - (D) None of these

(9) If, present P.V. Ratio is 25%, total fixed cost is ¥ 32,500 and Variable cost is
decrease by 10% what would be the break-even point ? :

(A) T 1,30,000 (B) < 1,00,000
(C) 3 1,17,000 : (D) None of these

For manufacturing products X and Y. materials require 5 kg and 7 kg per unit

(10)
respectively. If, maximum materials ‘available are only 12000 kg, which of the
'following is constraint ? '
(A) 5X+7Y =12000 (B) 5X+7Y <12000
(C) S5X+7Y 212000 (D) None of these
- \
(11) is important factor in Linear programming.
(A) Cost (B) Linear Variables
(C) Contribution : (D) All of these

(12) Differential cost deals with

(A) Sunk cost (B) Relevant cost

(C) Historical cost (D) None of these

ML-103 IS P.T.O.



(13) When labour hour is a key factor, profitability of a product is decided on which of
the following basis ? :
(A) Contribution per hour ' (B) Contribution per unit
(C) Labour cost per unit (D) Nonc of these

(14) Which of the following characteristic is not for sunk cost ?

(A) , Itis a relevant cost (B) Itis a historical cost
(C) Itis an irrelevant cost (D) None of these
{

ML:103. 16



